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Sample Paper – 2009
Class – X

Subject – Mathematics
 1.   If  x  =  4sin2θ  and  y  =  4 cos2θ  + 1. Find  the  value  of  x  +  y. 

2.  Find  the  value  of  P,  if  cos( 810 + θ )  =   sin( P/3 - θ ).

3.  Find the positive real root of the equation 64x2 – 1 = 0.

4.  Find the non-zero root of the equation 3z – 5z2 = 0.

5.  Find the distance of the point A ( 0, -3 ) from the origin.

6.  If     cos2200 + cos2700       =    2 ,  then find the value of  k.

            2 ( sin2590 + sin2310 )         k 

7.  Find the value of k, such that k + 1, 3k – 4, 2k + 3 are the three consecutive terms of the A.P. 

8. Find the value of P if the quadratic equation px2 + 4x + 1 = 0 has repeated roots.

9. A coin is tossed twice. Find the probability of getting at least one head.

10. Write the empirical relationship between the three measures of central tendency.

11. The graph of y = 4 is a straight line parallel to which axis?

12.  If sinθ  +  cosθ  = 1, then find the value of sinθ . cosθ

13.  What is the height of a cone whose base area and volume are numerically equal?

14. Find the first three terms of the series if the sum of n terms is n ( n + 1 )

                                                                                                                2

15. Find the probability a number is selected from the numbers 1 to 25 is not an odd number when each of the given numbers is equally likely to be selected.

16. 13 defective pens are mixed with 130 good ones. One pen is taken out at random from this lot. Determine the probability that the pen taken out is not a defective one.

17. Express sinA in terms of cotA.

18. What is the general form of a quadratic equation?

19. What about the roots of the equation if b2 – 4ac = 0? 
20. The product of two successive multiples of 5 is 300. Determine the multiples.

21. If   tanθ   +  1/tanθ   =   2, then  find  the  value  of  tan2θ   +   1/tan2θ.

22. Solve by factorization method: a2b2x2  +  b2x  –  a2x  – 1  =  0.

23. Product of two consecutive integers is 240. What are the integers.

24. Find the angle subtended at the centre of a circle of radius 6.3cm by an arc 13.2cm long.

25. An arc of a circle having measure 180, has length 22cm. Find the radius of the 

      circle.

26. The perimeter of a certain sector of a circle of radius 5.6cm is 27.2cm. Find the 

      area of the sector.

27. Using trigonometric identities, write the following expression as an integer.

       4 tan2A  -  4 sec2A.

28.  If A and B are acute angles and sinA  =  cosB,  prove that A + B = 900.

29.  If 4 sinA = 3 cosA, then find the value of 5 sinA + 5 cosA.

30.  If tanθ  = a/b, show that  a sinθ  -   b cosθ    =    a2 –  b2 

   a sinθ  +  b cosθ          a2  +  b2 
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Answers
	1.                  5
	11.          x - axis
	21.                2

	2.                270
	12.             0
	22.       – 1/a2,  1/b2

	3.               1/8
	13.          3 units
	23.         15, 16

	4.               3/5
	14.        1, 2, 3
	24.           1200

	5.               3 units
	15.         12/25
	25.            70 cm

	6.              k  =  4
	16.           10/11
	26.          44.8 cm2

	7.              k  =  4
	17.       1/ √ 1 + cot2A
	27.            - 4

	8.              p  =  4
	18.     ax2 + bx + c = 0
	28.   ……………..

	9.                3/4
	19.      equal roots
	29.              7

	10. 3 median  =  mode +

                                 2 mean                               
	20.         15, 20
	30. ………………..


-------------------------------------------------------------------------------------------------------
www.cbseguess.com
Other Educational Portals
www.icseguess.com | www.ignouguess.com | www.dulife.com | www.magicsense.com

[image: image1.png]